RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approval of the Department of Human Services Tobacco Cessation Grant)

0. 96-473

WHEREAS, the Tohono O'odham Nation's Executive and Legislative Branches fully recognizes the hazards tobacco products has on the health and overall well-being of the O'odham, especially pregnant women and youth; and

WHEREAS, the Nation's Executive and Legislative actively supports tobacco cessation programs and education to the O'odham to inform the public of the risks associated with the consumption of tobacco products; and

WHEREAS, Department of Human Services and Division of Community Health Services has recently been awarded a subcontract from the State of Arizona Department Health Services in the amount of \$18,000.00 for technical support to Health Care Providers addressing the issues surrounding use of tobacco products; and

WHEREAS, part of this technical support will be to coordinate Health Care providers' activities and provide materials to the nation's schools for the purpose of increasing awareness on smoking cessation; and

	RESOLUTION NO. <u>96-473</u>									
	(Approval of the Department of Human Services Tobacco Cessation Grant)									
1	Page 3 of 4									
2										
3	The foregoing Resolution was passed by the Tohono O'Odham Council on the									
4	26TH. day of SEPTEMBER, 1996 at a meeting at which a quorum was present									
5	with a vote <u>1,692.0</u> FOR; <u>67.0</u> AGAINST; <u>-0-</u> NOT VOTING; and <u>117.0 [05]</u>									
6	ABSENT, pursuant to the powers vested in the Council by Article VI, Section 1(d).(3), of the Constitution of the Tohono O'Odham Nation, adopted by the									
7	Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy									
8	Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to									
9	Section 16 of the Act of June 18, 1934 (48 Stat. 984).									
10	TOHONO O'ODHAM LEGISLATIVE COUNCIL									
11	TOHORO O ODRAM EEOISEATIVE COURCIE									
12	α									
13	Den Ku									
14	Dennis Ramon, Legislative Chairman									
15	1 st day of October, 1996									
16										
17										
18	ATTEST:									
19										
20	Francis Antone									
21	Frances Antone, Legislative Secretary									
22	1st day of October, 196									
23	/ day of, 19									
24	Said Resolution was submitted for approval to the office of the Chairman of the									
25	Tohono O'Odham Nation on the 1st day of October, 1996 at									
26	3: 15 o'clock, P.M., pursuant to the provisions of Section 5 of Article VII of									
27	the Constitution and will become effective upon his approval or upon his failure to either approve or disapprove it within 48 hours of submittal.									
28	to either approve or disapprove it within 40 nours of submittal.									

	RESOLUTION NO. <u>96-473</u>
	(Approval of the Department of Human Services Tobacco Cessation Grant)
1	Page 4 of 4
2	
3	TOHONO O'ODHAM LEGISLATIVE COUNCIL
4	
5	De la constant de la
6	Dennis Ramon, Legislative Chairman
7	
8	and OAA
9	APPROVED on the 2 day of October, 1996
10	[] DISAPPROVED at 3:29 o'clock,M.
11	
12	The second of th
13	EDWARD D. MANUEL, Chairman
14	TOHONO O'ODHAM NATION
15	
16	
17	Returned to the Legislative Secretary on theday of
18	Datela (6'D)
19	, 19 96, at 7.07 o'clock,M.
20	October, 1996, at 4:01 o'clock, P.M. Francis Antine
21	Frances Antone, Legislative Secretary
22	
23	
24	
25	
26	
27	
28	

ACTION: APPROVAL OF THE DEPARTMENT OF HUMAN SERVICES TOBACCO CESSATION GRANT

MOVED: COUNCILMAN WILLARD ANITA SECOND: VICE CHAIRMAN ALEX J. RAMON

DATE: SEPTEMBER 26, 1996

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOIES	FOR	AGAINST	NOT VOIING	ABSENT
SIF OIDAK 160.0	MARY ANN ANTONE (Nellie Miguel)	80.0	х			
	2. RITA MARTINEZ (Maxine Norris)	80.0	X			X
SELLS 314.0	JOSEPH T. JOAQUIN (Allen W. Garcia, Jr.) LUCILLE ENCINAS	157.0	X			
	(Cynthia Chico)	157.0	X	d. 1 - 14		-
SCHUK TOAK	1. KENNETH J. ANTONE	58.5				X
117.0	2. JOSEPH JUAN	58.5				X
SAN XAVIER	1. DENNIS RAMON	71.0	X		1114-11212	<i>x</i>
142.0	2. TONY BURRELL **	71.0	x			
BABOQUIVARI 257.0	EDWARD KISTO (Idella Stanley)	128.5	X			Х
201.0	2. FRANCES MIGUEL (Kenneth Chico, Sr.)	128.5	x	1	1 40	
GU ACHI 187.0	WILLARD ANITA (Louis Johnson)	93.5	X			
167.0	2. ALEX J. RAMON (Marian Johnson)	93.5	x			
PISINEMO 135.0	JOHNSON JOSE (Roseleen Antone)	67.5	X			
155.0	2. BARBARA SALVICIO	67.5	X			100
SAN LUCY	ALBERT MANUEL, JR.	52.5	Х			4
105.0	2. JOHN RENO (Mary Hoffman)	52.5	X			X
GU VO	GLORIA MONTANA ()	67.0	X			
134.0	2. FERN SALCIDO (Larry Montana)	67.0		X		
HICKIWAN 142.0	LLOYD FRANCISCO ()	71.0	X		y and	
142.0	2. ALEX JOSE (71.0	X	i i		
CHUKUT KUK 183.0	KENNETH WILLIAMS ()	91.5	х			
165.0	2. DAVID GARCIA (Marvin Thomas)	91.5	X			
	TOTAL	1,876.0	1,692.0	67.0	-0-	117.0 [05]